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B.A. VI Semester Degree Examination, May 2013
ECONOMICS
Paper — 6.1 : Indian Economy - |l (Compulsory)

Time : 3 Hours Max. Marks: 80

Instructions : 1) All Sections are compulsory.
2) Answer to the sub-questions in each Section should be
written.
3) Give latest statistical data to support your answer.

SECTION-A

Answer any ten questions in three or four sentences each : (2x10=20)

1.

2.

10.

151

State any three non institutional sources of Agricultural Finance.
What are the two advantages of Cooperative Marketing ?

Which are the sources of Irrigation ?

What is Money Market ?

Expand FDI.

What are the three causes of Green Revolution ?

Mention the three causes increasing public expenditure.

What do you mean by small scale industries ?

Who is the Finance Minister of India ?

Who is the Chairman of 12! Finance Commission ?

Mention three features of 1948 Industrial Policy.

P.T.O.
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12. What is meant by information Technology Industry ?
13. When did NABARD established ?
14. Mention any two recent classification of Public Debt.

15. Whatis tax ?

SECTION-B
Answer any three questions : . (3x10=30)
1. Explain the sources of Institutional Finance of Agriculture.
2. Discuss the causes of Green Revolution.
3. Analyse the Industrial Development of India of last 60 years.
4. Write a short note on Regional Rural Banks.

5. Explain the sources of Revenue of the Central Government.

SECTION-C
Answer any two questions : (2x15=30)
1. Explain the problems of Indian Agriculture.
2. Analyse the role of small scale and cottage Industries.
3. Discuss the Industrial Policy of 1991.
4. Explain the methods of repayment of public debt.

5. What are the objectives of Monetary Policy of Reserve Bank of India ?
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B.A. VI Semester Degree Examination, May 2013
ECONOMICS
Paper — 6.2 : Economics of Gender Development (Elective)

Time : 3 Hours Max. Marks : 80

Instructions : 1) All Sections are compulsory.
2) Answers tothe sub questions should be written in one place.
3) Give latest figures wherever necessary.

SECTION-A
Answer any ten of the following questions in three or four sentences each : (10x2=20)
1. State the meaning of gender economics.
What is gender development ?
Mention any two theories of women exploitation.
Give the meaning of demography.
What is meant by health policy ?
What is productive work ?
Bringout the meaning of labour market.

What is women empowerment ?
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What is meant by demand for female labour ?

e
o

State the meaning of gender equity.
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. What do you mean by gender wage discrimination ?

=
N

Give the meaning of paid and unpaid work.

What is economic status of women ?

-
&~

Write any two importance of women status.

—
o

What is meant by social productive work ?
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SECTION-B
Answer any three questions from the following : (3x10=30)
16. Briefly explain the demography of female population.
17. Explain the health policy and its implications for women.
18. Discuss the productive and unproduétive work of women.
19. Wite a note on economic status and female contribution to national income.
20. Explain the factors affecting female entry in labour market.
SECTION-C
Answer any two questions from the following : (2x15=30)
21. Explain the theories of women exploitation.

22. Discuss the supply and demand for female labour in developed and developing
countries.

23. Evaluate labour policy and women.

24. Describe the concept of gender and development indices.
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B.A. VI Semester Degree Examination, May 2013
ECONOMICS
Paper - 6.3 : Development Economics

Time : 3 Hours Max. Marks : 80

Instructions : 1) All Sections are compulsory.
2) Answers to the sub questions should be written in one place.
3) Give latest figures wherever necessary.

SECTION-A

Answer any ten questions in three to five sentences each: (10x2=20)
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Define economic development.

What is natural order ?

What is division of labour ?

What is surplus value ?

What is laissez faire ?

Give the meaning of reserve army.

Who has developed the concept of ‘invisible hand’ ?
What is class struggle ?

What are shocks ?

Mention two features of take off stage.

. What is meant by vicious circle of poverty ?

Mention two objectives of five year plans.
Who has developed big push theory ?
What is golden age ?

Whgt is HDI ?
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Answer any three of the following :
13:

14.

15:

16.

17

SECTION-B
(3x10=30)
Find the area of the quadrilateral whose vertices are (1, 1), (5, 2), (4+4), (2+3).

Calculate the amount and compound interest on ¥ 1,000 for 15 years, allowing
compound interest at the rate of 12% per annum.

A company studies the product performances of 10,000 consumers. Itwas found
that each of the product A, B, C has liked by 2070, 3062, 8058, respectively and
all the products were liked by 2000 product, A and B liked by 1580, product A
and C liked by 2580 and product B and C were liked by 3950 prove that study
results are not correct.

Find the equilibrium price and quantity for the following functions.
Qd =500-50p, Qs =50 + 25p
Solve the following linear programming problem graphically

Minimise Z = 5x + 7y
Sl X+y<4

3x+8y < 24
10x+ 7y < 35
and x,y>0 —
SECTION-C
Answer any two of the following : (2x15=30)

18.

A radio manufacturer produces x sets per week at a total cost of
% (x2 + 78x + 2500). He is a monopolist and the demand function for his product

600 - p

IS Xi= . when the price is ¥ p per set. Show that the maximum net

revenue (i.e. profit) is obtained when 29 sets are produced per week, whatis the
monopoly price ?















